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SN BAL
<R =z
chef: Az (e H e
CHB O (BH) - MBAY - B2 Ofl &t 0 g{ggj; HRS2
OXIDotA MIE X =Y
3,200,000& = 14! 3,200
J| 3,200
OAYOtHE 3 NRY| 240,000 = 14 240
pl 240
OsE22 ¢ A:I Mz 7,200,000& » 14 7,200
J| 7,200
OXIHRE ZTAEH L HEPY
,800,000& * 14! 4,800
J] 4,800
OCHHEX & HAIE Pl 3,200,000& * 14! 3,200
Dl 3,200
OXIHASA T A & 02 4,800,000& » 14! 4,800
Dl 4,800
OXIHAZH AR 2 CERAD-KT L
4,800,000& = 14! 4,800
Dl 4,800
OXINQAHIE AREE 7Y
1,440,000 * 14! 1,440
J| 1,440
O3MEE ¢ otEdEd 2,400,000 * 14! 2,400
J| 2,400
OAOtHEAH (S 1,440,000& = 14! 1,440
Pl 1,440
O&=D|, "ld 222 22/4|
1,728,000& * 14! 1,728
J| 1,728
OFANE2Y HIE FU(HEX, HAE2E S
4,800,000& 14! 4,800
Dl 4,800
Oslie go3pel 400,000& * 14! 400
J| 400
OfIs =< 1,280,000& * 14! 1,280
J| 1,280
OFLMARID EH & A28 2L
4,800,000& = 14! 4,800
J| 4,800
OMAI22IE XME L ARESE 2
960,000& = 14! 960
J| 960
O=ANsSX 2 3,840,000 * 14l 3,840
Dl 3,840
OXIOCtAHEH JtHEYE 38 Y
9,600,000& * 14! 9,600
J| 9,600
ORel 22y Aenel 2,400,000& * 1Al 2,400
i 2,400
OAHOX MEZZOH AIREE 12
2,400,000& * 14! 2,400
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SN AL
My Y B3
el wREARR (crel @ Q)
S - B - SRA(B) - NEAL - BAS UL Sl HIREY
Jl 2,400
OJIEt AXTHEZZOH ARES 7L
2,400,000& =« 14 2,400
Jl 2,400
Ogilled /3= M 16,800,000& * 14 16,800
Il 16,800
OXIMa=Ez e Xstsi & SsE++
= 6.400,000& = 14| 6,400
7l 6,400
OadaXidzstn =2it JI8&5+E
1,920,000& * 14 1,820
l 1,920
O=H g22 ZEE 22 1,440,0008 = 14 1,440
Il 1,440
OXNUILEH &4 =2 JIEE+FY
2,880,000& * 14| 2,880
2 2,880
02 35244l 19,591 0 19,591
OFAM=XE=+ 2l 1,600,000& = 14| 1,600
) 1,600
OXIogAI 2R CHHEZ &5 RBRS
2,800,000& = 14! 2,800
Il 2,800
OXIOHAY XtE RS 11,091,000& * 14 11,091
Il 11,091
OQleY & sogs |ABl 900,000 * 14! 900
Il 900
OXNSIA & sl
3,200,000 = 14| 3,200
2l 3,200
03 A2 &l 2,400 0 2,400
OXIOHRHA HIE JHAAL AL
2,400,000 = 14! 2,400
Il 2,400
202 Ol 5,760 0 5,760
Il 5,760
01 =Uoibl 5,760 0 5,760
OXIOHOtS ME AP =& O8]
5,760,000& = 14| 5,760
Il 5,760
206 T2 I 18,720 0 18,720
Jl 18,720
01 HEH 18.720 0 18,720
OeXig =228 22 M=l
9.600,000& = 14! 9,600
) 9,600
Ollzxgiz 2HEA & Mt
5.,120,000& = 14! 5,120
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A EHL
HH: 2AY F3
el gEedae (=)
AR B(E) - NRAY - By S 01l &k ot oo HREZ
Jl 5,120
OaHeXA2dse 28 W
4,000,000& * 14 4,000
| 4,000
301 Yt a3 103,264 103,264
J| 103,264
09 #AtAHIE A S 103,264 103,264
OXMEZZ e AT 2HAH|
4,320,000& * 14 4,320
J| 4,320
OX2=2I| & 2=y FHT SAH
800,000& = 14] 800
J| 800
OAMNEIHSEd T2 2,400,000& » 14 2,400
J| 2,400
ONWIMEY LLDE O A
2,304,000 * 14 2,304
| 2,304
OXIONEA Ot 22 HO A adl24
1,440,000& * 14 1,440
| 1,440
OX &S AR &3] 2,880,000 = 14 2,880
| 2,880
OAHOIX ALSD FAT 24|
3,840,000& * 14 3,840
| 3,840
OXti==2Y Mg 4,000,000& * 14! 4,000
| 4,000
OXl==2 ZIIta 44X 24l
2,400,000 = 14 2,400
| 2,400
OXIDHoIZ 2l ZAt=E 2,880,000& = 14 2,880
J| 2,880
OabieiXAaZan 28 2A+E
12,000,000& * 14 12,000
| 12,000
OCXMEEZ N 2AsY
64,000,000& * 14 64,000
| 64,000
307 2120 & 41,600 41,600
| 41,600
01 2L P =H| 41,600 41,600
Atefl 22| 8 A7 6,400,000& * 14 6,400
| 6,400
OXIett =S EEOINAH )
9,600,000 * 14 9,600
| 9,600
OXIIIE7 9,600,000 * 14 9,600
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SH 2L
HE: AL B
e gEEH2AL 3
SA I G - NEAY - BES of s Gi5e
Jl 9,600
OF2e « A24R23 3,200,000& = 14| 3,200
) 3,200
OXlHE L Z &l 12,800,000& * 14 12,800
Il 12,800
405 XHAHE S| 111,440
Jl 111,440
01 XAt L S Z 3 S| 111,440
OXIHAHE FIIB(AT, HHD, V)
12,000,000& * 14! 12,000
7 12,000
ONtH2E ALK 7 S
4,000,000& * 14| 4,000
7l 4,000
OCHOtIRL, ZSEARXIDl P&
16,000,000& * 14! 16,000
Il 16,000
OzE=E ¥ 1,200,000& » 14l 1,200
Jl 1,200
O ¢4 Z2HH P 2,000,000& » 14| 2,000
Jl 2,000
O ¢4 238 F¢ 400,000 = 14 400
Il 400
o=dlgsd dsEsEs 7
28,000,000& = 14| 28,000
Jl 28,000
Ooa(zag)+Y 2,880,000& » 14| 2,880
) 2,880
Odx(zag)>r 1,920,000& = 14 1,920
J| 1,920
O&XgE Holg & AXNFY
8,000,000& = 14| 8,000
Il 8,000
OUNMEEZ Y e JI7e
6,400,000 » 14| 6.400
Jl 6,400
ONMeZ2 Y s+ 1A
12,800,000& * 14 12,800
Jl 12,800
OgHA, 934 & BEX2J1J 7€
2,400,000& = 14| 2,400
) 2,400
OE=H FY 8,640,000& = 14! 8,640
J| 8,640
OZUH 7 2,400,000& = 14| 2,400
) 2,400
OZeHdl 2 2,400,000& = 14! 2,400
Jl 2,400
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e
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X
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ot stdiol M H XI&
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9,983
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18,986
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307 212tol ™

M HY
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9,983
4,991
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18,986

979

OMotstaiel A XI& 1,815,000& » 112
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19,965

9,983
4,991
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18,986

979
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47,816
23,908
11,954
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46,424
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307 Q1Z2tol ™

M

47,816
23,908
11,954
11,954

46,424
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M
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23,908
11,954
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SN RAL
e
ol Y oY o HUYX (cre: a2
=) =4 xH oI5 = A2 OH L =}
201 Y Er2 A 3,437 3,437 0
= 3,437
01 At 2t2|d] 3,437 3,437 0
OZE4d FMTP W=l 3,437,000& = 10l 3,437
= 3,437
I8 KA 4,800 2,800 2,000
201 L EH2A | 2,200 1,000 1,200
01 AR 2t2ldl 2,200 1,000 1,200
O8] 2,200
OJIMEML2YE EES HME
10,0003 * 1004 1,000
OJIME LAY SRF2 S
8,000& = 32! * 502 1,200
202 G4l 600 600 0
01 =LHOI I 600 600 0
OJIMEAY HRFTNHI
20,000% * 5 * 6& 600
307 2I2tol 2,000 1,200 800
01 A=<=l 2,000 1,200 800
OFEH 7 1,000& * 2,000¢! 2,000
oA K22 7,712 5,200 2,512
201 2 EH2 A 1,512 0 1,512
01 AtR2t2/ I 1,512 0 1,512
O U IRFE S8l 8,000& * 32 » 63 1,512
202 bl 5,200 5,200 0
01 = LHO4 HI 5,200 5,200 0
Ooatada AIEdAF 2 NEFEE ol
20,0003 * 201 » 40 1,600
ORHOIAE MY SHEUE OiY(UBBE)
20,0008 * 201 » 30 1,200
Oz o O1%E Z2 - Al -2 HSTS ofb|
20,0008 * 201 » 60 2,400
301 EIE A F 1,000 0 1,000
MIIEt2&3 1,000 0 1,000
O 2HIX A2 0101 A8 23|
50,000& = 221 = 10& 1,000
2y AR M2 U= 1,000 0 1,000
202 (bl 1,000 0 1,000
05 SR W=l 1,000 0 1,000
Ozgy A2X WSOl (FMTP)
125,000& = 121 * 83l 1,000
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SN AL
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Crol MeEwd oY 2 AR (el ®8)
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01 2l =H| 47,400 29,300 18,100
Oggdals (eteE RUQIIM, BEAS)
4,000 * 2,500 10,000
Ozgy A2 NN 7
100,000& = 23| = 5& 1,000
oxdgY e =MEH 2
4,000& * 2,000 8,000
OLEY HlY 2T 2RHT 7Y
1,700 = 2,00004 3,400
oHgY s =AasH ¢
2,000& = 33,0004 6,000
Oy e 2312 0tA=3a 22
8,000 * 50074 4,000
OZgE"Y ol 0kAa3a 2 3,000 = 5,00004 15,000
OhE 2™ o2 19,080 13,080 6,000
201 2Bt A | 7,000 2,000 5,000
01 AFR 22l | 5,000 2,000 3,000
Olgetx=24|] 5,000
OB5AMI0IAL =0l MapHHHX EY 2EHIZ
2,000& = 2,5000H 5,000
03 A2 S| 2,000 0 2,000
OZ8 gy 24| 2,000,000& = 14! 2,000
202 (44| 180 180 0
01 2L Y| 180 180 0
OBt 28 MBIAIY WS OH| (Z US| AL
g) 60,000& = 3¢9 180
301 Lt A2 2,000 1,000 1,000
09 SHAFAIHIB A 2 2,000 0 2,000
O Brulolol & MAEO 24
20,000& = 100¢! 2,000
307 QI2t0| & 9,900 9,900 0
01 2 2¥3=H| 9,900 9,900 0
OstdlE & T &2 AP H 9,400,000 » 14! 9,400
OBCGE &S0l 4at8t2 XIE2Hl X
500,000& = 13 500
gt A= 466,741 268,406 198,335
101 21244 74,219 9,566 64,653
04 D|2tHMIZ2ZNHEE S 74,219 9,566 64,653
OlgtgAs o29] 74,219
OEZHA gHAE o8 11,420
0BAL BASOR J=E
60,2403 = 121 « 232 x 6E 8,314
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A EHL
Zu: g 33
ol EE UM oY @ s (eo:@e
5 o 4 & =
SA - EM - SA(B) - HRAY - B 0f &t e RS2
(OF=1=i 20,000,000& * 14 20,000
OHALZEcIx gAaE X
35,0008 * 15¢ * 102 5,250
O=UsE 42 1,980
oz 80,0003 = 14 180
osde 1,800,000& * 14| 1,800
O=28 &2 1,980
o= 180,000& = 14 180
osd 1,800,000& * 14 1,800
Ogg4L=8 28U 110,392
o= 19,190
oFEg= 1,444 173 * 250 % 1208 4,333
038% 1,238.04% = 100 £ » 1202 14,857
osd 86,868
oxEE HHEF
1,444 173 = 184 1004 * 503 12,998
oxEE BR
1,238.04 & * 70 £ 1004 = 503 43,332
orliE AER
1,444 173 = 24 = 100CH = 203 5,777
orliE R
1,238.042 & = 104 » 100CH = 20%] 24,761
OHZ=ZLZc2lx 4,334
038R 1,238.04% = 704 » 503 4,334
405 XtatF SH 52,000 26,000 26,000
01 THM LSS FH SHI 52,000 26,000 26,000
OXgs LAFH (AR
2,000,000 = 5CH 10,000
OsliE £93dl 7 600,000& * 20CH 12,000
OdtgmAd&4s LHIII 7L
1,000,000& * 30CH 30,000
ZEgEE olT2el A 18,400 7,200 11,200
307 21201 ™ 18,400 7,200 11,200
01z -gdl 18,400 7,200 11,200
O%X JII Mg &X 1,000,000& * 109H 2 10,000
OdH™ JNDHM="L 140,000& = 608 8,400
TEOI0HH 2 oL 8,800 8,800 0
Il 4,400
£ 4,400
201 €er2dl 8,800 8.800 0
Jl 4,400
S 4,400
01 At 22l bl 8,800 8,800 0
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2M 2
X XH - "t
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pN|
=

el

FA -3 - SASH) - NIEMNE - BES Ofl &k 2K

=2

P
2m
=2
El
Ol
oy

L000& = 4,400¢! 8,800
Il 4,400
& 4,400

SAHL ZHET 22X 34,404 31,622 2,782
17,202
17,202

H X

101 12| 34,404 31,622 2,782

17,202
17,202

X

03 RIHA2E T E = 34,404 0 34,404

H
1,418,0002 * 121 = 128 17,016
8,508
508
920
960
90
ORIRASY 70,0008 * 191 + 122 840
420
420
OF22y 212,7002 * 191 « 23] 426
213
213
128
064
064
578

789
789

H &
®

O AZ A 160,000& * 1l » 12

o

H X

H X

X

O ESIH 1,063,540 = 1l = 2

toi

M X
—

OAZt2I2R+¢ 131,500& » 11 = 12

N0

H X~

17,016, 720& = 9.85471% 1,677
838
839
OgxtreSR/I=E 70,1608 = 191 » 10 702
351
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X

H X

000& » 121 * 13 1,418
709
709

H ¥

OZHATH R Ol £ D=

200,000 * 128 2,400
1,200
1,200

H X

13, 150& * 10AlI2H * 123 1,578
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789

H X
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SN BAA
X XH - dF
(=l

ool =

fA -8 - A(ZA) - HEAML - BAS Ofl &4 o4

=2

M

2
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EJ
Ol
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no

o2ds+g & 2,721,0008 * 14! 721
1,361

,360

H X

1
o
0z
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o
0
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P
>
o
N

,484 2,266 218
242
621
621

S

M

307 e12tol ™ 2,484 2,266 218
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U
—_

M H

2,484 2,266 218
X X2 2,484,000& * 12! 2,484
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O
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[
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[=s
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>
Y
o
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>
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-
10

18,652 13,388 5,264
9,326
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4,663

S

H

307 QIz2tol ™ 18,652 13,388 5.264
9,326
4,663
4,663

S

HJH

o
10

O
my
4o
o 4]
]

Bl 18,652 13,388 5,264
A BAE & REX R

26,645.714& = 700A 18,652
9,326
4,663
4,663

S~

M H

2 ASTZAL 10,760 12,518 21,758
5,380
2,690
2,690

MY

201 et23| 4,000 4,000 0
2,000
1,000
1,000

S

A H

gl 4,000 4,000 0
OZsatel 2gd| 4,000,000& * 14! 4,000
2,000

1,000
1,000

s

202 Ol 2,800 2,800 0
1,400
700
700

S

A H
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e
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0
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20,0002 = 201 * 70

S

H M

2,800
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2,800

307 e12+01 ™

=

Mo

3,960
1,980
990
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5,718

21,758

01224
218

EPIDN DY, el

3,960,000& * 14|

S

H H

3,960
3,960

1,980
990
990

5,718

21,758

2T IE BEL XA

]

M H

2,880
1,440
720
720

3,076

307 2I2t01 ™

S

M H
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